Conic Sections
in standard form

Parabola Circle
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Ellipse Hyperbola
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Parabola (vertical) : One variable is squared (x)
and one variable is linear (y).
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The vertex 1s found at (4, k).
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Write the following function in standard form and
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Write the followmg ﬁll‘lCthl‘l in standard form and
1dentify the conic section: povabola
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Parabola (horizontal) : One variable is squared
(¥) and one variable is linear (x).

The vertex is (A, k).
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Write the following function in standard form and

identify the conzm(—\
Yoo 6y¢..__/

\5 1:3 A = —4Ux

(o -ty By S - 4 < gy
L&\ }”/
= *\q 13\2 L
“%'3) N‘ ""h(. (

Write the following function in standard form and
identify the conic section: Pm\bola
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Circles: Both variables are squared with the same
coefficient.
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The center is (%, k). The radius is 7.
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Write the following function in standard form and
identify the conic section: Cirde
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Write the following function in standard form and

identify the conic section: (\nle
x2—6x+y2+2y=0

2 on b Ly @+ 2q% V=04 L L

5/ 2/

(-3

\ (x-3)" + (.g-n\" ~ \o\ ‘-
(O & 10 T~ Fo-.';.l

Ellipse: Both variables are squared and positive
but with different coefficients.
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The center is (4, k).

The vertical axis has a length of 25 and the
horizontal axis has a length of 2a.
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Write the following function in standard form and
identify the conic section:
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Write the followmg function in St ndard form and c. (O ) ')
identify the conic section: [ @)\
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Hyperbola (horizontal): Both variables are
squared and have different coefficients. One
variable has a negative coefficient (v).
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The center is (4, k).
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Write the following function in standard form and

identify the conic section: \r\sipubal&
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Write the following function in standard fofm and
identify the conic section: \]pulmla\
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Hyperbola (vertical): Both variables are
squared and have different coefficients. One
variable has a ncgative cocfficient (x).
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The center is (4, k).
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Write the following function in standard form and
1dentify the conic section:

36y2 — 4x2 = 144

\\ vy Yy
4 A
i (0,0) o ?l:

e

: g
I ;
-~ 2 ‘-.H\
4

Write the following function in standard form and

identify the conic section: %ulal-.
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